
Mx = M*cosβ 

Mx = 28N*cos35º 

Mx = 28N*0,82 

Mx = 23N 

My = M*senβ 

My = 28N*sen35º 

My = 28N*0,57 

My =16N 

 

 

 

 

Fx = F*cosβ 

Fx = 42N*cos75º 

Fx = 42N*(0,26) 

Fx = -11N 

Fy = F*senβ 

Fy = 42N*sen75º 

Fy = 42N*0,97 

Fy =41N 

 

 

Rx = R*cosβ 

Rx = 102Km*cos26º 

Rx = 102Km*(0,9)  =  

Rx = - 92Km 

Ry= m*senβ 

Ry = 102Km*sen26º 

42N 

28N 

Y 

X 
35º 

My 

Mx 

M 

Y 

X 75º 

Fy 

Fx 

F 

Y 

X 

102 Km 

Rx 

R 

26º 
Ry 



Ry = 102Km*0,44 

Ry =-45Km 

Ry = -44 

 

 

Qx = Q*cosβ       

Qx = 69N*cos83º 

Qx = 69N*(0,12) 

Qx = 8 

Qy = Q*senβ 

Qy = 69N*sen83º 

Qy = 69N*0,99 

Qy = -68N 

 

Qx = R*cosβ 

Qx = 69Km*cos83º 

Qx = 69Km*(0,12)  =  

Qx = 8Km 

Qy= m*senβ 

Qy = 69Km*sen83º 

Qy = 69Km*0,99 

Qy = - 68Km 
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